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int something (int a[n-1]) {
int i, j, flag;
for (j=1; j<=n; j++) {
flag = 0;
for (i=0; i<n-1; i++) {
if (a[1]==]) {
flag = 1;
break;
}
}
if ('flag) return j;
}

return -1;
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Suppose a Is a given array of length n. Consider the
following function:

int something (int a[n])
{
int temp = 0, 1, Jj;
for (i=0; i<n; i++)
for (jJ=1i+1l; j< n; J++)
if (abs (a[j]l-a[i]) > temp)
temp = abs (a[jl-alil]);

return temp;



Solution to example 1

a) The function finds the maximum difference
between two values in the array.

b) O(n%)

¢) Finding the maximum and minimum values
In the array and calculating the difference
between them. Therefore the problem will
be solved in O(n).



Suppose a and b are given arrays of length n. a Is sorted
In Increasing order, and b Is not sorted. Consider the
following function:
int what(int a[],int b[],int &i,int &j)
{
for (j=0; j<n; J++)
for (i=0,; i<n-1; i++)
if (b[j] == a[i]+a[i+1])
return 1;

return 0;



Solution to example 2

a) The function checks whether a value In
array b equals the sum of two consecutive
values In array a.

b) O(n?)
c) For each value in array b, a variation of a
binary search needs to be carried out In

array a, therefore the problem will be
solved in O(n log n)



Suppose a Is a given array of length n.
Consider the following function:

int something (int a[n])
{
for (i=0; i<n; i++)
for (jJ=i+1l; j<n; J++)
if (a[1] == a[3]l])
return O;

return 1;



Solution to example 3

a) The function checks whether all the values
stored in the array a are different .

b) O(n?)

c) First, sort the array a, and then pass for
finding two adjust cells with the same
value. The sort takes O(n log n), and the

passing O(n). Therefore the problem will be
solved in O(n log n)



Suppose a Is a given array of length n. Consider the
following function:

int something (int a[n])
{
int 1,],temp;
for (1=0; i< n; 1i++)
if (a[i1i]%2==0)

{
temp = a[1i];
for (j=i; 3>0; j--)
aljl = a[j-1];
a[0] = temp;
}



Solution to example 4

a) The function rearranges the array a that all
the even values wil be at the first cells, and
the odd values will be at the last cells.

b) O(n?)
c) Pass on the array from both sides, and make

the necessary exchanges. The following
function makes that in O(n):



int something (int a[n]) ({
int head=0, tail=n-1, temp;
while (head<tail) {
if (a[head]%2==0)

head++;

else if (a[tail]%2'=0)
tail--;

else {

temp = alhead];
a[head] = a[tail];
altail] = temp;
head++;

tail--;



